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Step 1: Start with an interior solution.

Step 2: If current solution is good enough, STOP.
Otherwise,

Step 3: Check all directions for improvement and
move to a better interior solution.
Go to Step 2.
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O Interior Movement

e Format:

xFtl — xk o ozd;‘“c

a > 0: Step — length

d% € R™ : moving direction

e (Questions:

1 How to find a “good” direction d%?

2 How far should we move?
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(AN EXAMPLE

min —2z1 + 29

S.t. T1 — Ty <195

X2
15

Xl=0

N




Reformulate to standard form

min —2561 + Zo
s.t. 1 — 29 + 23
T2 + X4

L1,X2,T3,L4

(10 )

2
and xY = is feasible
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MATRIX FORMAT

T

min c¢ X
st. Ax=Db
x>0
- . -
1 -1 1 O 15
where A = , b=
0O 1 0 1 15
[ _9 [ 10
1 2
c = CxY =
0 7
] 0 ] _13_
[ 10 0
2
Xo =
0 7
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SCALING _ o
% 1 1 y; =x31/10 <\
- X-1x = 3 0 €2 yo =z2/2 =|
Y—XO X= 0 % z3 vg = <3/7 = |
_ 13 4 L %4 _ yq =4/13 = |
The problem is transformed to
S.t. 10y; — 299 +Tys = 15
22 +13ys = 15
Y1,Y2,Y3,Y4 ZO
7.5 =0
y3=0
y, =0 ’
yO
1.5 3 y,=0
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The new matrix form

min
S.t.
where_
_ 10 -2 7 O
A =
0O 2 0 13
20 |
2
C = o and y¥ =
0
_ O .
(A= AX,
< c = X()C
LYY = X5 %o
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